K.C.P.E. TRIAL - 2013
SOCIAL STUDIES & RELIGIOUS EDUCATION
Time: 2hrs. I5mins 
REAP THESE INSTRUCTIONS CAREFULLY
1. You have been given this question booklet and a separate answer sheet. The question booklet contains 1 -90 questions
2. Do any necessary rough work in this booklet
3. When you have chosen your answer, mark in the ANSWER SHEET, not in this question booklet
HOW TO USF. THE ANSWER SHEET
4. Use only an ordinary pencil
5. Make sure that you have written on the answer sheet:
YOUR INDEX NUMBER YOUR NAME
NAME OF YOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number and the three-figure Candidates Number) in the grid near the top of the answer sheet.
7. Do not make marks outside the boxes
8. Keep the sheet as clean as possible and do not fold it
9. For each of the questions 1-90 four answers are given. The answers are lettered A, B, C, and D. In each case only ONE of the four answers is correct. Choose the correct answer.
10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter - you have chosen is written.
Example
In the Question Booklet 23. A good citizen must show the following qualities except
A. loyalty
B. sense of responsibility
C. patriotism
D. tribalism
The correct answer is D (tribalism)
On the answer sheet:
8. [A] [B] [C] [D]
23. [A] [B] [C] M 24. [A] [B] [C] [D]
25. [A] [B] [C] iD]
11. You dark line MUST be within the box
12. For each question ONLY ONE box is to be marked in each set of four boxes
TURN OVER
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11. The feature marked L was formed as a result of river

A, erosion , .
B. deposition
C. transportation
D. faulting
12. The desert marked K was formed due to one of the following influence. Which one is it?
A. warm Mozambique current
B. cool Canary current
C. warm Equatorial current
D. cool Benguelia current
13. The following are some ofthe organization activities of the Khoi khoi: Which among them is apolitical oiganization.
A. they practisedsome nomadic pastoralism
B. they lived in villages of up to 250 houses
C. they were ruled by chiefs who were hereditary
D. they were hunters and gathers .
14. The 27th August 2010 will be an historical day because
A, The new ''ution was promulgated
3. It is a da Kenya went for a referendum
C, Theintn. no decreed
(ii) is a link between pupils and teachers
(iii) he is supposed to be a role model
The duties described above are performed by A. class prefect
B, headteacher
C. deputy headteacher D. school chairperson
17. Which of the following title used in Buganda Kingdom during the pre-colonial period is not correctly matched with its officer?
A. Omwanika - Treasurer
B. Omulamuzi
-Chief Justice
C. Mtwale
- Army Officer
D. Katikiro
- Prime Minister
18. To make a complete revolution on its orbit, the earth takes
A. twenty four hours
B. thirty days
C. three hundred and sixty five and a quarter days
D. twenty eight days
19. Below are some minerals mined in Africa
(i) Gold (ii) petroleum (iii) soda ash (iv) diatomite
(V) COpjj” •
Which. coDiUnati* 3H of the minerals listed above is mined mEastAJiw.a
A. i, v, ii 3. iii. iv, y C. ii, iii, iv D. i, ii, iii
20. Which offee foSlowmgpoIitical association was i»tfoni5ed before the second world war?
A. Young Kikuyu Association
B. Kikuyu Central Association
C. East Africa Association
D. Kenya Africa Study Union
21. Why was The Aswan Hi gb. Dam proj ect mitiated by the Government of Gama! Abdei hJasser?
A. to provide water for hvdro-eK'crnc power
B. top
C. toec^cwwjoa
D. to create vi man-inati * 1 Ae :i or :5 Xwp; wi '.'.oori sc attr£oao,.


1ft Wilich oftlie following statenSnt is We a§out the
population according to the pyramid?
A. there are more male children than female children
B. the number of youth is less compared to the aged
C. the population pattern is almost equal in all age brackets
D. there are more female than male children at age of
0-14 years
16. Below are duties of a school leader
(i) he/she monitor class order
22. svys ■ (i)Tfiearw/XX;:ay T-rW
· (ii)
(iii) Formation party oiKvs * X u-y
(ivu,v
j,
i
In which chronological order did. they occur? A.i,ii5iiljv
B.XiiLii.i
C. i, in, n, iv
D. L :i iv, iii
23. -'X
llie weather inss
'■
ir used to* ■- ;?
A. Temperature
B. Wind direction
:w-, /’ax pressure DTfumidity
24. The MAJJNreason that made the Boers in South Africa to move North wards was
A. Harsh community
B. The arrival of the British
C. Drought
Khoisan displaced them

25. The government of Kenya is promoting Tourism mainly by?
A. creating good relationship with other country
B. building good roads, fire star hotels and game paries
C. improving air transport
D. advertising tourist attraction abroad
26. In which of these places marked J, K, M, N would you find vegetation with following characteristics.
(i) ever green vegetation
(ii) tall and multi-species trees
(iii) few undergrowth plants
A. N B.M
C: X D.K
27. Nasambu a pupil at Kongoni primary school was told to list factors to consider before setting up an industry. She listed them as
(i) availability of market
(ii) nearness to the raw material
(iii) good transport netwbrk
(iv) sources of power
Which one was the MAIN factors for setting up of a baleen',
AJ,:.:’, iv B.L Hi, iv C. i iiiv 'D.iwiii.ii 23, John Nyongesa a p1 ;>pij at St. Teresa was asked to state
A. placing games with uninfected person
3. shading clothes with an infected person
C. by sharing sharp objects with an infected person
D. by eating together with an infected person
29. One of the following marriages is not found in the current constitution. Which one is it?
A. civil marriage
B. trial marriage
C. customary marriage D. religious marriage
30. Which of the following reason led to the stepping down of the first vice-president
A. replacing one vice chairman with eight KANU vice-
chairman
B. formation of KPU
C. wanted to over throw Jomo Kenyatta
D. killings of Tom Mboya
31. Who among the following municipal council officials is a service civil servant
A. Town clerk
B. Treasurer
'32. How many governors according to the new constitution that would be elected after the 2012 General election A. 280
B. 37
C. 47 D. 210
33. Parliament proceedings are recorded in a document referred to as
.
A. Manifesto
B. Constitution
C.Hanzard
D. Minute book
34. WhichofthefollowingtradingblockstartedasP.TAin 1981?
A.NEPAD
B.E.A.C
C. ECOWAS
D. COMESA
35. Why was capital city of Tanzania transferred from Dar es Salaam to Dodoma
A. to ease congestion
B. to reduce the power of Dar es salaam
C. to improve infrastructure
D. to promote trade
! 36. The standard of living in Kenya is currently expensive mainly due to
A. increase in population growth
B. frequent increase in fuel prices . C. lack of enough rainfall
D. political campaign for 2010,
37. The time in Accra, Ghana is 9.40am. The time in Addis Ababa Ethiopia is 12.40p.m. Addis Ababa is therefore located along longitude?
A. 40°E B. 45°W . C. 45°E D. 40° W
38. The human rights are enshrined in the

A. bill of rights B. constitution C. laws D. cents
[I 39. One of the following cultural activities was adopted by Bantu from the Cushites as a result of interaction. Which one is it.
A. pastoralism
B. naming
C. fanning
D. circumcision
40. Who were the first Europeans to visit East Africa Coast A. Arabs 3, Indian. C. Portuguese D.British
41. When was the last national population census carried out in Kenya?
A. 2000 B. 2009 C. 1999 D.1989
42. In which year did Kenya attain its fall independence A. 12th Dec 1964
B. 12th June 1963
C. 12th Dec 1963 D. 1st June 1963
43. In Kenya, General elections are normally done after a period of how many years?
A. 10 yrs
B. 2 yrs C. 5 yrs D. 3 yrs
44. After implementation of tire new7 constitution, the highest
court in the land will be
.
A. Supreme court
B. High court
C. Court of appeal
D. Internal court of Justice
The elections of Mayors, and chairperson so the respective

A. ten years
B. two years
[image: image2.png]CAve years D. three years
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A. purse seining
B. net drifting
C. trawling
D. long lining
47. Who chairs the cabinet meetings _
A. Prime Minister
B. Speaker
C. Chief Justice
D. President
Stealing his packed hEKh, What action wouidhis classmate do?
A. report John to the teacher 011 duty
B. forgive him
C. plan for a revenge
D. punish John for his behaviour
49. Which one of the following types offish is not caught in lakes and rivers of Africa
A. Nile perch B.Tuna C.Tilapia D. Mudfish
50. One of the following government official sits in all three arms of government Who is he?
A. Chief Justice
B. Attorney General
C. Speaker
D. Prime Minister
51. What do you think was the MAIN reason that led to the
formation of early political association?
A. African wanted their land back
B. Africans were against forced labour
C. Africans were not allowed to grow cash crops
D. Africans were against interference with their culture
52. (i) I was once Kenya’s Vice-President
(ii) I was the chairman of OAU
(iii) I never became leader of opposition
(iv) during my time Nyayo philosophy
(v) I survived an attempted coup Whom I am?
A. Hon. Mwai Kibaki B. Hon. Raila Odinga
C. Hon. Daniel arap Moi D. Hon. George Saitoti
53. Which UN Agency is responsible for refugees
A. UNHCR
B. UNICEF
C. UNESCO ’ D. UNEP
54. In Kenya the speaker of the National Assembly is elected
by
-
A. Voters
B. President
C. Members of parliament
D. Councillors
55. Which one of the following presents asingle parent family
A. father, daughter, son B. father, mother, son
C. mother, daughter, nice D. mother, father, cousin
56. The MAIN way to reduce road accidents is by
A. constructing good roads
B. punishing traffic offenders
C. putting more bumps on roads
D. educating people on proper use of roads
5 7. Which of die following is not symbol of National Unity A. National flag
B. National Anthem
C. The coat of arms
D. National language
58. What is dual citizenship?
A. attaining citizenship of a country by birth
B. applying for citizenship through registration after sever
years.
C. having citizenship of two countries
D. attaining citizenship through naturalization
59. Which type of tax do goods imported to a country referred to
A. income tax
B. cess tax
C. V.A.T
D. custom duty
60. Which body is responsible for hiring magistrate
A. Judicial service commission
B. Public service commission
C. Parliamentary service commission
D. Teachers service commission
C.R.E
61. Which of the following curses did Adam receive after disobeying God’s commandments?
A. death
B. crawling on the ground
C. toil on the land
D. pain during birth
62. Who among the following was NOT a patriarch?
A. Moses B. Jethro C. Jacob D. Abraham
       When God called Gideon, he responded to fight the
        Midianites. This shows that Christians should be
.
         faithful to God
B. obedient to God
       C. courageous
D. patient
63. The following are elements of a covenant EXCEPT
A. promise
B. commitment
C. sacrifice
D. disobedience
64. Who prophesied that Jesus will be born in Bethlehem?
A. Isaiah B. Micah C. Jeremiah D. Ezekiel
65. God changed the name of Abram to Abraham because he

A. wanted to make him a father of nations
B. wanted to give Mm a new land
C. wanted to make him rich
D. wanted to give him his protection
66. Which two lypes of sexual misuse was Gomer involved in A prostitution and fornication
B. adultery and prostitution
C. rape and prostitution
D. prostitution and incest
67. Which of the following Kings is wrongly matched with his father?
A. Jeroboam - Solomon B. Saul - Kish
C. David - Jesse
D. Nodab - Jeroboam
68. Samuel grew up with the priest Eli in the town of

' A. Hebron B. Jerusalem C. Shiloh D. Nazareth
69. This verse is found in the book of
“You
created every part of me, you put me together in my mother’s womb”
A. Proverbs B. Psalms C. John D. Isaiah
70. Why was Jesus taken to the temple by his parents at the age of 8 days?
A. naming ceremony B. purification
C. baptism
D. Passover
71. Whoever has two shirts must give one to the man who has none and whoever has food must share it Luke 3:11. These words were spoken to the

A. tax collectors
B. people
C. soldiers
D. disciples
72. The parable ofthe pharisee and the tax collector teaches
· about?
A. forgiveness
B. the growth of God’s Kingdom
C. humility in prayer
D. readiness
73. During transfiguration who appeared in heavenly gloiy and talked with Jesus about the way in which he would soon fulfil God’s purpose by dying in Jerusalem?
A. Moses and Abraham B. Moses and Aaron 1 Elijah and Elisha
D. Elijah and Moses
74. Happy are those whose greatest desire is to do what God requires for


A. God will be merciful to them
B. God will satisfy them fully
C. God will call them his children
D. God will comfort them
75. Which one ofthe following stages shows the correct order through which Jesus went during His trial?
A. High priest, Pilate, Herod, Pilate
B. Pilate, High priest, Herod, Pilate
C. Herod, Pilate, High priest, Herod
D. High priest, Herod, Pilate, High priest
76. Three of the following are gifts ofthe Holy spirit Which one is NOT?
A. faithfulness
B. knowledge
C. faith
D. prophecy
7 8. Simon wanted to buy the gift ofthe Holy spirit from

and

A. John and James
B. John and Peter
C. Andrew and Mathew D. Peter and Matthew
79. Jesus performed his first miracle at
A. Egypt B. Nazareth C. Jerusalem D. Cana
80. Why are Christians advised to pray always?
A. to show that they are good to do it
B. to make sure they remain in communion with God at all
times.
C. to exercise self denial
D. to ensure that they remain on their knee
8 1. The following are similarities between Christianity and traditional African beliefs and customs. Which one is NOT
A. believing in one God who is the creation and provides
B. life and death
1
C. reconciliation with God
D. believe in Jesus who is the son of God
82. Which one of the following stages of the stream of life is correctly arranged?
A. Ancestors, living, living-dead, unborn
B. Unborn, ancestors, living, living-dead
C. Unborn, living, living-dead, ancestors
D. Ancestors, living dead, living, unborn
83. The blood shed during circumcision in the African society showed?
A. union with ancestors
B. readiness to start a family
C. sign of fear
D. taimgnewresponsibility
84. Which one ofthe following acts were performed by elders in Traditional African Community during worship.
A. sacrifidng animals
B. reciting the creed
C. baptizingmembers
D. servingthe Holy communion
85. In Afiican Traditional Society people believe that God was the following EXCEPT
A. omnipotent
B. omniabsent
C. omnipresent
D. omniscient
86. Maiy your elder sister is suffering from HTV/AIDS. Which is the correct actions for you to take?
A. keep a way and pray
B. encourage her in all ways to a seek medical help
C. adviceherto kill herself
D. take her to a local church
87. We spend our leisure time doing many activities. Which one is a bad way?
A. visitingtbesick
B. singingin church
C. talking evil about other people
D. helpingparents at home
88. Three ofthe following are factors to consider when getting married. Which one inNOT?
A. beauty
B. age
C. culture
D. religion
89. Wanyalawho is in std 8 is involved in drinking alcohol. As a Christian how can you help overcome this?
;
A. report to the police
B. laugh at him
C. advice him to continue
D. explain to him the effect of alcohol
90. Hie main problem faced by the early missionaries in their missionary work was
A. language barrier
B. finance
C. building materials ^ D. low salaries
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Use the map above of Matagwa area to answer questions 1-7


The general direction of the slope of Matagwa area is	


North East to South East


West to North


South West to North East


North East to East


• The feature marked X formed by river Kipsangui near


the bridge is likely to be?


A. a source	B. a tributary


C. a distributary	D. a confluence


The area covered by the map is likely to have two types of climatic characteristics., that is	.


cool and wet to the East, hot and dry to North


cool and wet to the West, hot and dry to the East


cool and dry to the East, hot and dry to the West


cool and wet to the East, hot and dry to the West


One ofthe following CANNOT be a characteristic to one ofthe economic activities in this area. Which one is it? A. Pastoralism	B. Tourism


C. Fishing	D. Trading


Which social services, if you are elected as an MP of Matagwa area would you give as a priority'?








Forest





The type of settlement found in the Eastern side is	


A. linear B. cluster C. scatter D. sparse


Three ofthe following are means of transport found in Matagwa area. Which one is not?


A. air B. water C. railway D. road


The language that was formed as aresult of interraction


between the Arabs, Jew's and some Africans is called	


A. Semites	B. Bantu


C.Afroshirazi	D. Berbers


Which ofthe following crops is mainly grown under





A. wheat	B.rice


C. cotton	D. beans


10. One ofthe following is the MAIN benefit of a volcanic mountain to the people living around it. Which one is it?


It provides stones for building house


Its slopes provides fertile soils for agriculture


it acts as a recreational site


it is a tourist attraction





A. Recreational service C. Health services





Use the map of Africa to answer questions 11-12





;. The count'5/ elected a new ;o-: '
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Use the diagram below to answer question 26
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